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— WVINDR IR TWNDA TN
Half of you for a 7192 and the other half of you for a 7u19p

OVERVIEW

X217 queried what would be the ruling in a case where a man was wpn a
woman and said to her U792 XM AVINB2 X0 do we consider it one
7R and she is nwTpn, or do we consider it as two separate "217°2 and she
1S not NWTIPN, since a man cannot be wWpPn half-a-woman. m»doIn will argue,
based on a previous X 3, that even if we assume that it is two separate
T17°P, nevertheless it should be a valid marriage by virtue of him saying
D NWTIPR XN twice.

mooIn asks:
— D229 RY ININ 9NN ON)
And if you will say; why is it not an effective v 7°p when he says to her 7°xn
70102 TPYM AwNDa?!
— 20NN NPT NIINT DIUN NIN 19122 PUIDP 1DWD KT 1985 91N NY N1
For previously in the case of *2 nwmpn 7k, the only reason that we gave
why the 1275? did not spread out in her entirely is because there is
another mind; the mind of the woman who is required to accept the P17 -
— NYNIVY N1IY RON N8INN NIIN)
And she is not agreeing, except to what she hears; since she only heard 7»3n
"> nwpn, she agreed that only half of her should become nwTpn to him, and half a
TYYTR is no PYTp at all -
— ND192 PYVITP 1OV NDINA NXINNDY DIYT 199N ON YaN
However if we would know that she is willing to become nwmn entirely,
then we would say that 779132 PR WD even if he said *2 nwnpn %m0 -
— 119992 NYINNY NNYT Y NI
And here in this case she revealed her intention that she is agreeing to a
complete Pu17p, because when he mentioned the second 7211 she consented, therefore
since we know she is agreeable to be completely married, so when he said [the first?]
7% she should be nwmpn, for since she is agreeable, the ruling is that WP "OWd
72102t

IR,

2 When one is w>7pn half-a-nna the AwiTp is 77132 v because we do not require the consent of the 7nn3,
however when one is w>7p» half-an-7wx, the 1"w17°» cannot be 79132 WWwd, since we do not assume that she
consented for more than what she heard; which is half.

? See “Thinking it over’.
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Mo0IN answers:
— PYITP PYUOA DY 9INRT 299919 M1 INT 91217 W

And one can say that if we were discussing a case where he used the

term PRTP; he said 191 701792 % nWTPK T8, then -
— 19193 PYYTP YOW NN 93 390 PN

Indeed the ruling would be that 775193 1721797 WS and she would be nwnpn -
2(3)9m DIYDT WY 211M 1N IN D NDNNN NN 290 NY 9INRT 999N NI YaN

However, here we are discussing a case where he said to her, ‘you are

betrothed to me’ or one of the other expressions mentioned previously
with which one can marry a woman, but he did not say nwmpn, therefore there is no rule
of 77192 PP W by the other expressions. The only time we say by 1w171°p that 0w
72122 YT is when he uses the term nwTIPn, because it is similar to wps.

SUMMARY

If a man is wTpn a woman and says 2 DWTPR XM A0INDA 2 NWTIPA TN
101792 she is NWTIPR. We know she is consenting to the 7217°p; therefore we
apply the principle of 77192 1w17°p Wwwd. The query of X271 is only if he said
131 °% NOMRM %1 (or any other expression except for NWTIPR).

THINKING IT OVER

nodIN maintains that even if we assume '1p09', it is a valid PW17p since she
was 119192 ¥’ Seemingly we do not know that she was 72132 7¥7nn,
perhaps all she agreed to was to be nwTpn twice 1°Xx¥n?, and there can be no
PRE Perp!°

4 See Wwwon 7" R,T MOOIN.
5 See footnote # 3.
6 See X991 7"7 XA NIX 7"I0.
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